2-2 Solving Two Step Equations
I can solve two-step equations
1.

2.

3.

4.

	Solve

5a + 2 = 7

	Check

	Solve

2x + 3 = 7

	Check

	Solve

3b + 6 = 12

	Check

	Solve

9 = 5 + 4t

	Check

	Solve

4a + 1 = 13

	Check

	Solve

-t + 2 = 12

	Check

	Solve
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+ 7 = 3

	Check

	Solve

6.78 + 5.2x = -36.9

	Check

	Barack wants to buy Michelle some flowers.  He decides he wants to buy a bouquet of yellow roses and baby’s breath for $16.
The baby’s breath costs $3.50 per bunch, and the roses cost $2.50 each. He wants one bunch of baby’s breath and some roses for Michelle’s bouquet. How many roses can Barack buy?

	

	Jack walks at the rate of 210 ft/min.  He needs to walk 10,000 ft to get to school.  How many more minutes will it Jack to finish if he has already walked 550 ft?

	

	Jenna is making a pecan pie for Ali.  Suppose she has shelled 6.5 lb of pecans, and she can shell pecans at a rate of 1.5 lb per hour. How many more hours will it take Jenna to shell a total of 11 lb of pecans?

	

	Anaya is mailing a fan letter to Justin Bieber.   To mail a first class letter, the U.S. Postal Service charges $.41 for the first ounce and $.25 for each additional ounce. It costs $2.41 to mail your letter. How many ounces does your letter weigh?

	

	Sarah and Hussein are shopping.  Suppose Hussein wants to buy one pair of pants and several pairs of socks. The pants cost $24.95, and the socks are $5.95 per pair. How many pairs of socks can Hussein buy if he has $50.00 to spend?

	


1. Ms. Erick solved the equation 12 - 3y = 15.  Her work is shown below.  Is she correct? Explain your answer.   
12 - 3y = 15

3y = 3

y = 1

